
 
 

Measuring Machine Offsets 

 

When measuring “D” (Receiver Height), measure from the ground to the line where green meets yellow. 

A: (This value is 0 unless the receiver is offset from the center of the machine) 

B: (Distance from Receiver to “non-steering” axle) 

C: (Distance from “non-steering” axle to the connection point (draw bar in this case) 

D: (Distance from ground to receiver. (height) 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 
 

 

 

 

 

A: (Tongue length from connection point to the front of the main bar (most consistent bar across the implement)) 

B: (Front of main bar to seed tube) 

C: (This value is 0 unless the implement is offset or drawn off to the side ex. Windrower) 

D: (Measurement from the connection point to the lift wheels)  

E: (This value is 0 unless there is another implement behind the planter) 


